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Y = fi,,+Ij,x+e
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Yl
I

r=+
r=+

0
x1 x2

X
x1
+

x2
X
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x1 x2

yjd  3

6, = 0

-
A X r=U

0
5 x2 X

$i 4

nfio  + 6,  ZX = ZY (1)
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p (- t.025 < t < + t,“*J  = 0.95

p (- t.025  <
8, - 8,

Sy,l/J-F@Xp
< + t,“2s)  = 0.95
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v (9, = v (Y)  + v [ fl1 (Xk  - X) 1 + cov  (Y,  fi,  (Xk  - X) )

co”(u.ji,(xk-x))  = 0

V(Q,) = v(Y)+v[fil(xk-x)]

= v (Y)  + (Xk  - X)2  v (6,)

= u;,.-+ (Xk  - Xl2 u ;,,
n c  (X - X)2

fi~atildS~:ul6MVt)9  V(Q,) da

v &,, = s &
[

A+ (Xk  - si)Z
c (X - Q2 I

&$-j = sy,x i + (‘k - ‘I2 ’
X(X - X)2 I

n = 12,x(x  - x)'  = 476,917, S;,,  = 0.2065 : ?? = 124.583

v 8,) = s tix
[

i+ (Xk  - X)2
C(X - X)2 I

= 0.2065
(Xk  - 124.583)2

476.917 1
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Mlfl x, zr jT

v 8,)
1= 0.2065 (& = 0.0172

JG-$  = Jo.0172 = 0.131

hmi xk = 120

v (Q,) = 0.2065
C

(120 - 124.583)*
476.917

= 0.1839

= 0.429

E (Y/x = 120) = O,*t

= 2.38 + (1.812) (.1384)
= 2.38 4 ,251

UU'flB 2.129 < E (y/x  = 120) < 2.831
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v q 1
E (T”

Y’X
i

t + 1 + _cXk  - X)’

n 2.  (X - xj2 1
=

s :i,
i

1 + 1 + (Xk - 3
__I_-

n X ( X  - X)” 1

y P i

I
== G,  * t.(,s : ” _ 2 1 + I'+

(XI;  - fq2

1
3 s

\
n c (X - X)2 Y/X

= 2.38 + (1.812) (.454)
J

1 (120 - 124.583)2
1+3+--

476.9167

=: 2.38 i (1.812) (.454)  (1.062)

= 2.38 2 .873S

1.5065 < Yp < 3.2535
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/

6, = +

I-=+
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= (19) (0.07143) (94)
- -

4 4

= 4.75 - 1 .6786

= 3.0714

jz = 3.0714 - 0.07143 Y

.
I

wia
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S = 5 ; Sy = 6 ;x i;, = 0.8

6&NQ,“i, r = fi,> (afh%JMmXl6ltl8fJ  Y on X)
Y

= ( 0 . 8 )  2

= 4 = 2
6 3
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Y

5 -

3 -

1 -
X

0
- 3 -I -1 3

-1
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(9)  x,
( 1 0 )  6ih6dW

( 1 1 )  fm%ldu%o

( 1 2 )  6&J&

(13) 30,000

(14)  1

(15) 11

(1‘3) P, = 0

( 1 7 )  P, f0

(18)  2
(19) 34

(20) 1.64

(21) 2.0

( 2 2 )  lJ$l~

( 2 3 )  i
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v
d’udUil’l6U$dU  (higher--order) tilllplpl (24) . . . . . . . . . . w;fJ (24) Polynomial

exponential
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T - F

T - F

T - F

T - F

T - F

T - F

T - F

T - F

T - F

T - F

T - F

T - F

T - F

T - F

T - F

T - F
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1. T 2. F 3. F 4. T

5. T 6. T 7. T 8. F

9 . T 10. F 11. T 12. F

13. T 14. T 15. T 16. F

17. T 18. T 19. F 20. T

21. T 22. T 23. T 24. T

25. F 26. T 27. T 28. T

29. T 30. T 31. F 32. T

33. F 34. T 35. F 36. T

37. T 38. T 39. F 40. T

41. F 42. T 43. F 44. F
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1. fflV4pdd~  C x = 43, % = 6.1, CY = 41, ;;; = 5.9, Cx2 = 28.8 Ey2

cxy = 15.2

osP-n~~~r~~M~~~~~~~~~(r)

(1) -.95  (2) + .95 (3) 2 .53 (4) - .59 (5 )  + .59
2. o1nu"a,n"1wum  79io 1. BWl fi,

(1) -.59 (2) +.59  (3) + .53 (4) - .53 (5 )  _+ .95(

3. ~~~PdCUOSrll~~909ffl~ln~BC~U~~~~l~~~~~~

(1) .87 (2) .62 (3) .79 (4)-, - .91 (5) 0
4. FilTrP-aTJfN  raaarnsnalaJ~~~~iea~~~~~~~

(1) .08  (2) - .12  (3) - .85  (4) - .98 (5 )  .50

22.8,
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340

.+-
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dl r = + 1.00 66a~Xniifiu  4OfiltiIpdlUdlW~~  Y&l

(1) 120 (2) 100 (3) 90 (4) 0 (5) 80

33. oln~ow~~o  32. '6% r = -1.00 aaa: X 6'ViIfkI  4Ofi1tilUlf~dId~ Y&l

(1 )  120 (2 ) 100 (3 )  90 (4) 80 (5) 0

34. OIfhlu"&l 32.61 r = 0 66azX  6ViIfiU 4OfiIM"UlUifI7nf~ Y&J

(1 )  120 (2 ) 100 (3 )  80 ( 4 )  0 (5 ) 90

35. OIflhW$fio  32.61 r = + SO 66aEX  6vilfb 4Ofilti1U1UdITdJ Y&l

(1) 120 (2) 110 (3 )  90 (4) 80 (5) 0

36. OInhlf%l  32. t% r = - SO 66aEX  6hfh 4OfiItilL!lUdl'V~l~  Yh

(1) 120 (2) 110 (3 )  90 (4) 80 (5) 0

(1)  (Y  - $1 (2) (Y  - 3

(4) CT-sr) (5) tphm

38. (y - $) = (y -3 6&l-

(1 )  r  =  1 .00 (2) r = - 1.00

(4) r + SO (5) r = 0

39.

(3) r + 1.00
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09M1LthMhWJa~  Y, = bo, + b,, X,

( 1 )  Y, =  - 2 + 4 x , (2) Y, = 1 + x,
(4) Y, = 1 + .5x, (5) Y, = 1.5 + x,

(3) Y, = - 1.5
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45. Wh’&@  44. QWl65iMQ(;I~~88‘U~~  Y, = bb4  + b,, X,
‘. :

(1) Y, = -1+ .5x, (2) Y, = -2 + 4x, (3) Y, = 1 + x,

(4) Y, = 1 + .5x4 (5) Y, = 1 - .5x,

1. (5)
3. (4)
5. (1)
7. (3)
9. (3)

11. (2)

13. (3)

15. (4)

17. (1)

19. (3)

21. (5)

23. (4)

25. (2)

27. (5)

29. (2)

31. (5)

33. (1)

35. (3)

37. (1)

39. (1)

41. (5)

43. (2)

45. (5)

2. (31
4. (1)
6. (2)
8. (5)

10. (1)

12. (3)

14. (4)

16. (4)

18. (5)

20. (3)

22. (3)

24. (4)

26. (1)

28. (3)

30. (1)

32. (5)

34. (2)

36. (2)

38. (5)

40. (5)

42. (3)

44. (3)
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lmw’n

1

CWl-IlaJ

2

3

4

5

6

7

8

9

10

11

12

13

14

15

1 6

17

18

19

20

21

22

REAL X(10),  Y (10)  SUMX, SUMY, CROSS, XSQ, YSQ,

XMEAN, YMEAN, lSSQX,  SSQY, XDEVN, YDEVN,  CORR, RSQ,

BZERO, BONE, XDIFF, YDIFF, 2XYDIF, SYONX, VARB,  SDEVB

INTEGER N,I

READ, N

SUMX = 0.0

SUMY = 0.0

CROSS = 0.0

XSQ = 0.0

YSQ = 0.0

DO11  = 1, N

READ, X (I), Y (I)

SUMX = SUMX + X (I)

SUMY = SUMY + Y (I)

CROSS = CROSS + (X (I) *Y (I))

XSQ = XSQ + (X (I) *X(I))

YSQ = YSQ + (Y (I) *Y (I))

1 CONTINUE’

XMEAN = SUMXN

YMEAN = SUMYN

XDIFF = (N*XSQ) - (SUMX * SUMX)

YDIFF = (N* YSQ) - (SUMY * SUMY)

XYDIF = (N* CROSS) - (SUMX*SUMY)

SSQX = XDIFF / (N*N - N)

ST 203 (H) 345




